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Monthly Test, August-2010, Sub: Maths, Class-VI

Time: 40 Min. M.M. 20
Note: All questions are compulsory.

Each question carries one mark.
Fill in the blanks.

The comparison of two quantities by division is called

First term of the given ratio 5:17 iS .............. and the
secondtermis..............

Fraction of 50%iS .......covvvvvvvinnnn

S.L

Each question carries two marks.

)
)

i)

Determine whether 3, 5, 9, 18 are in proportion or not?

The first, second and fourth term of a proportion is 15, 20
and 52 respectively, find the third term?

Find 25% of Rs. 80

Each question carries three marks.

)

i)

i)

A radio set was purchased for Rs. 560 and sold for
Rs. 650. Find profit or loss.

Ruchi deposited Rs. 10,000 in her saving bank account.
Bank pays interest at the rate of 6 % per annum. How
much interest will she get after 2 yrs ?

Cost of 20 note books is Rs.110. What will be the cost of
14 such note books?
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Monthly Test, August-2010, Sub: Maths, Class-VII

Time: 40 Min. M.M. 20
Note :- All questions are compulsory.

1. Each question carries one mark.
Fill in the blanks.

)

Distance
Speed = ——————
Afraction having ...................asdenominator, is called
percent.
Profit=SP — .............onl. (if SP>CP)

Area of rectangle = length x ..............

Perimeter of square = .............. x side.

2. Each question carries two marks.

)

i)
i

If the cost of 25 kg. apples is Rs. 625, then how many kg.
of apples can be purchased for Rs. 225 ?

Find ‘a’, if 3% of ‘a’ is Rs. 9.

There is a path 7 metre wide outside around the square
playground of side 60 metre each. Find the area of path.

3. Each question carries three marks.

)

i)

i)

A stock of food grain is enough for 200 persons for 8 weeks.
How long will the same stock last for 100 persons.

Find Amount on Rs. 1450 at the rate of 10% p.a. simple
interest for 3 years.

A verandah 1 metre wide is constructed all along the outside
of a room 5 metre long 4 metre wide. Find the area of

verandah.



Monthly Test, August-2010, Sub: Maths, Class-VIII
Time: 40 Min. MM. 20
Note: All guestions are compulsory.

1. Each question earries one mark.
Fill in the blanks.

i)
i

i}

iv)

v)

Profit or loss is always calculatedon ................... Price.

L =1l Her o oorenosemmonnooomne

Adding interest of fixed period to the principle and
compoundly interest even on interest the total interest of

complete time period is called .............

Profit
Profit % = —— * 100

m
A=P x| 14— ]
10

2. Each question carries two marks.

i

il

If CP = Rs. 1800, SP = Rs. 2000, find profit or loss
percentage.

If MP = Rs. 7200, [ = 20%, find SP.

Find Amount if Principle = Rs. 12504, Rate = 12% per
annum, Time = 3 yrs.

3. Each question carries three marks.

i)

Shamsher sald a watch for Rs. 840 on which he got 5%
profit. At what price he should have sold it to get 10 %
profit ?

A fan having market price Rs. 800 is sold by Yashpal at
10% discount and he gets 20% profit. At what cost was
this fan purchased by him ?

A sum of Rs. 1800 at 10% rate of interest becomes Rs 2178,
Find time in years if interest is compounded annually.
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Monthly Test, August-2010
Sub: Maths, Class - IX

Time: 40 Min. M.M. 20

Note : All question are compulsory.
1. Each questions carries one mark.

)

i)

Find the value of x in the figure.

C

68°/
A @) B

Using criterion of congurency under which rule are the
triangle congurent.

o\ 60°
5cm C Q 5cm R

Sides opposite to the equal angles of atriangle are.............

A quadrilateral cannot have more than................ obtuse
angles.

................. number of straight lines can be drawn from
the pointAand B in a plane.

2. Each question carries two marks.

)

i)

What value of x would make AOC a line
if ZAOB =3x+10°, ZBOC = 2x

If the three angles of a quadrilateral are 100°, 50°, 50°.
Find the fourth angle.

Inthe given figure AB=AD and BC = DC then find ZADC

D

3. Each question carries three marks.

Prove that if a transversal intersects two parallel lines,
then each pair of alternate angles are equal.

Angles ZP, ZQ, ZR of a APQR are equal to each other.
Prove that APQR is equilateral.

One of the angles of a triangle is 55°. Find the remaining
two angles if the difference is 35°.
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Monthly Test, August-2010, Sub: Maths, Class-X
Time: 40 Min. M.M. 20
Note : Al question are compulsory.

1.  Each questions carries one mark.
Fill in the blanks

i) S0 +....=1

iy Point (-1,2) lies in the ............... quadrant,

iv})  The point of intersection of X-axis and Yeaxisiscalled ...
¥) Pythagoras theorem is based on ............... iriangle.

2. Each question carries two marks.
i)  Prove that (1-sin*8) secd =]

@) Find the value of siné1®
oS 290

i) FFA(-2,0)and B(1,4), find distance AB.

3. Each question carries three marks.

1+ sin A
= = gec A + tan A

l-sinA

i) P’i1:l-1.fc:ﬂ'lzit1|||

ii) The vertices of a triangle PQR are P (-4, -2) Q (0,1) and

R {-1,-5). Is the triangle equilateral, isoceles or scalene.
iil}  The co-ordinates of Aand Bare (2,3) and (-2, 1) respectively,
4

AP
Find the co-ordinates of P so that == = e
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